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#include <stdio.h>
#include <math.h>
#pragma warning(disable:4996)
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int main()
{
double x; %,fq::—tt
double y;
printf("x=");
scanf("%If",&x); FFNRRDIID
if (x<0){ ] BAICETEN
pr‘intﬂ'WE‘l‘%’C‘iﬁfﬁhh"b 2 aan s
} A
else { N
y 2 sqrt(x); MR DILTE
printf("sqrt(%f)=%f¥n", x, y); IRWNZE(CELT
} N385
return O;
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y = sqrt(x); printf("EIXDTETE CEEXEA
printf("sqrt(%f)=%f¥n",x, y); ), A\VL , 2 3

return O; g
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if (agegf)/){

printf("You may drink alcoholic beverage. ");

}

else{

printf("You may not drink alcoholic beverage.");
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#include <stdio.h>
#pragma warning(disable:4996) i i
int main()
{

int a;

printf("a=");

scanf("%d",&a);

if (a>13){ \
printf("100 Yen¥n");

!
else if(a>6) {
printf("50 Yen¥n");
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else {

printf("0 Yen¥n");

} /
return O;
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#include <stdio.h>
#pragma warning(disable:4996)
int main() .
{ SR

inty;

printf("year=");

scanf("%d",&y);

if (({y % 400) ==0) || (((y % 100) !=0) && ((y %4) == 0))) {
printf(" %d is a leap year.¥n",y);

} N DI D
ZARICEITEN
else { Z 2045
printf("%d is not a leap year.¥n ",y); a
} =S e ARV
return O; IXWSE(CELT
} =Ndab
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if (age>=20){ if (age>=20)
printf("You can smoke"); printf("You can smoke");
} else
else { < printf("You can not smoke");

printf("You can not smoke");
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